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HISTORY
Paper : HISHC3066
( History of Modern Europe—I )

Full Marks : 80
Pass Marks : 32

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

1. Choose the correct option from the following
(any siq : 1x6=6

(@) Name the leader of the French Revolhtion
who advocated the theory of Separation
of Powers of the Government.

(i) Voltaire
(i) Montesquieu
(iii) Locke

(iv) Jean-Jacques Rousseau
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Who was the ruler of France during the
French Revolution?

(i) Louis XIV
(ii) Louis XV
(iii) Louis XVI
(iv) Napoleon III

Which historical battle sealed the fate
of Emperor Napoleon?

(i) The Battle of Trafalgar

(ii) The Battle of Waterloo

(iii) The Battle of Leipzig

(iv) The Battle of the Pyramids

In which year was the Battle of
Waterloo fought?

(i) 1805
(ii) 1807
(itj) 1813
(iv) 1815

July Revolution (1830) broke out in
France because Charles X

(i) tried to establish the old regime
(i) invoked the divine right th
Kingenip ght theory of
(iii) suppressed the freedom of speech
(iv) All of the above |

( Continued )
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Which Russian Czar took the initiative
in the.formation of the Holy Alliance?

(i) Peter the Great
(ij) Catherine II

(iij) Czar Alexander I
(iv) Czar Nicholas

Who first used the word Proletariat’?
(i) Karl Marx

(i) Robert de Lamennais

(iii) Rousseau

(iv) Mahatma Gandhi

Who invented flying shuttle’?
(i) James Hargreaves

(i) Edmund Cartwright

(iii) Graham Bell

(iv) John Kay

Otto von Bismarck Schonhausen was
the Chancellor of

(i) Austria
(i) Spain
(iij) Germany
(iv) Italy
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(4) - (5

() Which country was called ‘Sick man of

Europe’? (b) Discuss, in brief, the Congr%ss of

. ) - ' ‘ " Verona held in 1822. |
() Serbia 1‘ e territorial arrangements
(ii) Bulgaria f Vienna, 1814.

(c) Discuss th
made by Congress 0

(iii) Greece : ou mean by Continental

, ‘ d) What do ¥ >
(iv) Ottoman Empire ( system and how did Napoleon execute

i on it?
. . brief explanation on how
2. Answer the following questions (any five) : { (e S:gon:iism grew in Europe after
2x5=10 | . Napoleon Bonaparte.
(@) Mention two importan | .

Bastille. portance of the fall of ! 0 piscuss the impact of the July

Revolution of 1830 outside France.

i the Agrarian
Throw some light on
(g) Rev olution in England.

(b) Who were Girondists?
(c) What was the ‘Reign of Terror’?

'(h) Discuss the consequences of the

(d) What was the Consulate system? Austro-Pmssian War of 1866.

(e) Who were the big four powers in the Wwhat were the causes of the Crimean

Congress of Vienna? (i) War?
() Who are bourgeoisie? ‘ G) What was Kulturkampf?
(99 Mention two direct results of Franco- — . .
Prussian War (1870-71). | 4. Answer any two of the following questlo;l:x.2=20
! (@) How did philosophers contribute to the
3. Answer any six of the following questions : | outbreak of the French Revolution in
5x6=30 17897
(@) Write a short note on the Third Estat | Highlight the factors influencing in the
of France. ° ; (b) ocgurrence of the Industrial Revolution
in England.
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(6 )

(c) - Discuss the socio-economic impact of
the Industrial Revolution.

(d) Estimate the role of Mazzini and Cavour
in the process of Italian Unification.

5. Answer any one of the following questions : 14

(@) “If the conquests of Napoleon were

; ephemeral, his civilian work in France
was built upon granite.” Explain the
internal  reforms introduced by
Napoleon Bonaparte.

(b) Discuss the causes and consequences
of the February Revolution of 1848 in
France.

(c) What was the Balkan problem? Was the
Treaty of Berlin successful in solving
the problem?
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